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Inventory Problem Specification
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DATA ITEM

ENTRY

Demand per MONTH

Order or setup cost per order

Unit holding cost per MOMTH

24000
gR000 oo taw s s o3l b din e
50 oo 03 sl gt e

DJ_.;.'I\_;&&@LIJ:J.:IE

Unit shortage cost per MONTH 200 ooad 0 2t A
Unit shortage cost independent of ime ol ol e 3 g0 aiy
Heplenishment or production rate per MONTH M

Lead time for a new order in MONTH (o lay

Unit acquizition cost without discount

Mumber of discount breaks [quantities]

Order quantity if you known
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wlxwil |, solve and analyze<solve the problem ai,;5 aliwe J> S|y wesSl

05-15-2010 Input Data | ¥ alue | Economic Order Analyzizs | Yalue
1 Demand per MONTH 24000 Order quantity 10461.36
2 Order [setup] cost $95000. 0000 M aximum inventory 8717.798
3 Unit holding cost per $50.0000 Maximum backorder 1743560
4 Unit shortage cost Order interval in MOMTH 0.4359
L] per MOMTH $250.0000 Reorder point -1743.560
[ Unit zhortage cost
¥ independent ol time 0 Total setup or ordering cost $217944.9000
] R eplenishment/production Total holding cost $181620.8000
9 rate per MOMNTH M Total zhortage cost $36324.1600
10 Lead time in MONTH 0 Subtotal of above $435889.9000
11 Unit acquisition cost 0
12 Total material cost 0
13
14 Grand total cost $435889.9000

order quantity: Jw,leaw Hlaso
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maximum backorder : o,9> alold ;> Jiv,lew

subtotal of above : Vi sla ;3> go>

GyS Jinylaw diaps Hlase Gwles Sl W a3 Hlsges auw, Sy
53,5 sw Ldlb 45 0 =i 9 05,5 wlkil |, result<graphic cost analysis

Inventory Cost Curve Setup

Uileow Hlado 9 ausd Hlabe oS 9 Gy 0,5y il ) S9>90 S osls
..L&).__S\DULM.U |) L@)S.ZD S,

WWW. Zziie.ir



g (s o Hlages g 05,5 SUSOK Sg, JI>

Pt B Hulk g el —+ Shulzye Ciesl ot
1.1 .1
11173007 1 173
§1,245.00C L4 243,000

e L T FE1 UL
LA T e
SEGT | pesn oo
ST ] [ R I peaun
sTmnnT Fenrn
536207 Lzez 00
1N S FE AT UL

¥ -|D'1E1'3|3 [ T T R R Lo in

n 17FRT IFETN 133400 AlERT SRIEN 2RI =lern

WWW. Zziie.ir



ww wlxil [, results>graphic inventory profile & S>9>g90 ;5905 puw, Sl

Inventory Profile Setup

Initial inventory level [+/-]:
Yertical maximum [inventory): B12552 6200
Yertical minimum [inventory]:

Haorizontal number of cycles:

-1743.5600
10461_3600

Cancel

5l as,le asS s5)ls 39>9 box £ ooui Ubles 0y >
Initial inventory level: >9>90 aJgl adow
Vertical maximum : S>goc ;90 Sg, S39>90 ,laAbo (Ui
Vertical minimum : S>goc j9=x0 Sg, S>9>g0 ,lAdo (pyi0S
Horizontal number of cycles : 583l ;o=o0 Sg, & 0,95 slas
Reorder point : saxo Jw,leaw akns;
Order quantity : Jv,lew )laso
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Inventory Problem Specification

"Problem Type

(! Deterministic Demand Economic Order Quantity [EOQ] Problem
(& Determiniztic Demand Quantity Dizcount Analyziz Problem

(! Single-period Stochastic Demand [Mewsboy] Problem

(! Multiple-Period Dynamic Demand Lot-5izing Problem

(! Continuous Review Fixed-Order-Quantity [=. @] System

(! Continuous Review Order-Up-To [z, 5] Spstem

(I Peniodic Review Fized-Order-Interval [R. 5] System

(! Peniodic Review Optional Replenishment [R, =. 5] Spstem

Problem Title |
Time Unit [
[1].4 | | Cancel | Help
:j).a..\s S\0 ))ls I))J) ska osls
DATA ITEM ENTRY
Demand per year 225
Order or zetup cost per order 150
Unit holding cost per year 5
Unit shortage cost per year M
Unit shortage cost independent of time
Replenizhment or production rate per pear M
Lead time for a new order in year
Umnit acguizition cost without discount 36
Mumber of discount breaks [quantities] 8
Order quantity if you known
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LS sw wlxil |, solve and analyze > solve the problem

05-15-201 I]| Input Data | Yalue | Economic Order Analysis Yalue
1 tDemand per year 225 Order quantity 116.1395
2 Order [zetup] cost $150.0000 Maximum invenlory 116.1395
3 Unit holding cost per year $5.0000 M aximum backorder 0
4 Unit shortage cost Order interval in pear 05164
5 PEI pear M Reorder point 0
b Unit shortage cost
i independent of time 0 Total zetup or ordering cost $290.4738
] Replenizhment/production Total holding cost $230.4738
9 rate per pear M Total shortage cost 0
10 Lead time in year 0 Subtotal of above $500.9475
11 Unit acquizition cost $35.0000
12 Total maternial coat $B100.0000
13
14 Grand total cost $BE20.9470

UysS Sg,y Uianlaw Aiaps Hlaso Giwles Shy W aiysa lseos oo Sl

Do csw oW g9, 0,y aS oS sw SuS Result>graphic cost analysis

Inventory Cost Curve Setup

Yertical maximum [cost]: |1 742 8432

Yertical minimum [cost]: |I]

|
|
Horizontal maximum [order quantity]: |35|] |
|

Horizontal minimum [order quantity]: ||]

I | Cancel | Help
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Result>graphic inventory profile

Inventory Profile Setup

Initial inventory level [+/-]:
Yertical maximum [inventory]: B139.4274
Yertical minimum [inventory]:

Horizontal number of cycles:

WWW. Zziie.ir



o b 5905 9 05,5 SIS 0K Sy, 5 paw

39w

Het | nwentarm e Wuamhily = TTE TR @l Widen loloryval = WLTEF pom Quantity
14442 144: 1
QI o Ky el e =124E1¢

Yarpmlree vow - CICD3

R A e | R | R R Rl | e e e T T e R TR L P e ] CET T E LT | EEEETEET T Ers | EEEEPEPETETE R P T T e =151
7 R
AR EEE CEEEEEEEE LR SEEEEEEEET CEE] EECEREEET! EIE SECERECES CEEECEEEEEEEE] EEL) EEREERIEE] EEL SCLEEEERE SEED "EEEEEIEEE CEEY TRCEEEEER TER EEEEEEEER —HiH
R (gl VRPN FORRPORORP NPPRSy PAVRORPPORY SRR NSRORpur SRRy SUORpESoRoE SyucomyFRSOSQRpRrH EPUSpEc:MCDRRRMHOR)SSyRus FpSRRpun ESyiva JECRRRORORY SNt NSpRRRRpRn SSRED Ems —iHd e
B M et oot ifuieiniele Teiehioied ileieelolet ‘Meleielelel sl Suleleeialy ieleieluieiel feleiebiel iuieleleleh ileilelell elelel lelelelels lelielulelel siehebilel (nllelieils ‘eleieielel thieeielel Tolehilel =L
[k o EEEERERE: EREY EREEEEEEL CRERT EERERECE) EERE] EEEEEEEE EIEE CEERERCEE CEEEY EEEERERET TR ERERECEE. REEE CEREEEEEL EXREY CEEREREE] EEEE SERETEH seme=z GCE
o X 2riEs
1% 4= 13077

r | | | | | | 1

] 1504 [INki] | 3202 0330 25000 113 IE 41312 4.047% S CdC

WWW. Zziie.ir



o150 o Sl o9y S Jlois| Jiluw J> 2o @ aslsl s

L paS o Joe 5 b sl sdid s)lge ailes Jlae (il J> Sl

File>new problem

M;S@og&ﬁﬂ)pgmcugﬁ)bwomolngng

Inventory Problem Specification

WW. ziie.ir



oo oas 1) &159i €95 9 05,5 3)lg | Hlee VL=l 5 0=y Vo Lo | Gy

Order or zetup cost

Unit acquisition cost

Unit selling price

Unit shotage [opportunity] cost

Unit zalvage value

Imtial inventory

Order quantity if you know

Desired service level [%] if you know

DATA ITEM ENTRY
Demand distribution [in year] Mormal Fah ol
Mean [u]
Standard deviation [z>0] 10 gl cal =l T
[Hot uzed]

ww wlxiol | o, aiusS g 05,5 double click Jlo s Sg, 81597 £95 uasti Sl

Probability Distribution Function

Click the distribution fo

r your choice.

Gamma
Geometric
HyperGeomelnc

Mormal

Poizzon

Power Function
Trniangular
Uriform
Weibull

Mormal

WWW. Zziie.ir

Parameter 1

Parameter 2

Standard deviation [z>0]

Parameter 3

[Hot uszed]
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DATA ITEM ENTRY
Demand distnbution [in year] Mormal
Mean [u] 500
Standard deviation [z>0] 10
[Mot used]

Order or zetup cost 32
Unit acquisition cost i3
Unit selling price 64
Unit shortage [opportunity] cost 25
Unit salvage value 49
Initial inventory 54
Order quantity if you know

Deszsired zervice level [%] if you know

PSS o Joc 55 @ilbo a2

Solve and analysis> solve the problem

05-16-2010 Input Data or Hesult Yalue

1 Demand d hutio ea Mormal
2 Demand mean 500
3 Demand standard deviation 10
4 Order or setup cost $32.0000
5 Unit cost $73.0000
b Unit selling price $64 0000
T Unit shortage [opportunity] cost $25.0000
8 Unit salvage value $49.0000
b3 Initial inventory LT |
10

11 Optimal order quantity 389 4660
12 Optimal inventory level 443 4660
13 Optimal service level 39.9977%
14 Optimal expected profit $-4686.5380

PaS (s Joc 999 Sl g, wiled W lsg05 oo, Sy
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File>new problem

Inventory Problem Specification H

"FProblem Type

) Deterministic Demand E conomic Order Quantity [EDQ] Problem
) Deterministic Demand Quantity Discount Analpsis Problem

i Single-period Stochastic Demand [Mewsboy] Problem

® Multiple-Period Dynamic Demand Lot-5izing Problem

) Continuous Review Fixed-Order-Quantity [s. Q] System

) Continuous Review Order-Up-To [5. 5] System

i Penodic Review Fixed-Order-Interval [R, 5] Spstem

) Penodic Review Optional Replenishment [R, 5. 5] System

Problem Title | |
Time Unit NHumber of Periods
1] 4 ‘ ‘ Cancel ‘ Help

)'|u.u.,g_90>)5 Okl.&o)gb >|.stio._¢._+sa'i_9._s\ilo)' DlSSCLLi.uLO&_QJ u,zL'zIJ|)'|M
puiS s Slg | wleMbl 0,=iy vanw ol

pear Demand Setup Unit ¥anahle Unit Halding Unit Backorder
Cost Cost Cost Cost
1 16 0 b4 4 90
32 74 1] 2 T
3 53 m 79 P 9§

5l as,le W box uslée as
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Demand :lolss

Setup cost : S;Lw oslol aiuss

Unit variable cost : j.io a0

Unit holding cost : 5,125 a3

Unit backorder cost : jiv,leaw 5> U

S (s Joc VYU 3,190 1i5lod o J> Sl

Solve and analyze>solve the problem

Lot Sizing Methods x|

Lot Sizing Method

(® Wagner-whitin Algorithm [wWw]:

) Silver-Meal Heurigtic Procedure [SM]
) Fizxed Order Quantity [FOQ]

) Economic Order Quantity [E0Q]

' Lot for Lot [L4L)

) Fixed Period Requirements [FPR]

) Period Order Quantity [POQ]

() Least Unit Cost [LUC]

() Least Total Cost [LTC)

) Part-Period Balancing [PPE]

Initial inventory [+] or backorder [-]:
Deszired end inventory [+] or backorder [-]:

Cancel
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Initial inventory backorder: aJgl S39>90

Desired end inventory or backorder :,Uaul B8 S>g>g0

05-16-2010 Production Expected| Expected | Cumulative
pear Demand | [Lot Size] | Setup |Inventory | Backorder Cost
Initial 540000

1 46.0000 1] Mo 8.0000 o 3320000
2 32.0000 F7.0000 Yes 5H3.0000 0 $4062 0000
3 53.0000 1] Mo ] 0 $4062 0000

Solution Method: ‘W Total Cost = $4062.0000

Demand : Lolss

Production (lot size) : auwlol o;ll

Setup : ;Lw oslol

Expected inventory :,Uxil 5,90 S>9>90

Expected backorder : )Uail 5,90 03L8l wse Giuv,law

Cumulative cost : oo ;o
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